# BRIDGETON BOARD OF EDUCATION PUBLIC ACTION MEETING May 3, 2011

The public action meeting of the Bridgeton Board of Education was called to order at 6:30 p.m. by Nicole M. Schoener, Board Secretary. Board Members present were Mrs. Brenda Dellaquilla, Ms. Angelia Edwards, Mrs. Marie Bernstein, Mr. Albert Morgan, Mr. James Williamson, Mr. Willie Tukes, Mr. Kenny Smith-Bey Jr. and Mrs. Mary Peterson. Mr. Curtis Edwards was absent. Also in attendance were Dr. Thomasina Jones, Superintendent, Mrs. Nicole M. Schoener, School Business Administrator and Mr. A. Paul Kienzle, Jr., Board Solicitor. Prayer was offered by Ms. Edwards.

#### OPEN PUBLIC MEETING STATEMENT

The New Jersey Open Public Meeting Law was enacted to insure the right of the public to have advance notice of and to attend the meetings of the public bodies at which any business affecting their interests is discussed or acted upon. Bridgeton Board of Education has caused notice of this meeting to be published by having the date, time and place thereof posted on the bulletin board in the lobby of the Bank Street Administration Building and mailed to the City Clerk of Bridgeton, The News of Cumberland County, Bridgeton, The Press of Atlantic City, Pleasantville and Radio Station WSNJ, Bridgeton on May 11, 2011.

#### 1.6 PUBLIC PARTICIPATION

Miss Shannon Branch thanked the Board for their support of the Swedish Exchange Program.

Miss Kathleen Fallon addressed the Board regarding scheduling. Stated that it was new during the 10/11 how related arts was delivered on a semester/marking period rotation. The concern, particularly the media center, has only been able to access the library for one marking period. Also she is concerned about the amount of time that may lapse between the next time the student receives that related art. Ms. Edwards asked if this was brought to the superintendent at the beginning of the year. Ms. Edwards asked Mrs. Fallon for a copy of her notes; she agreed to send them to her.

# 1.7 <u>RESOLUTIONS</u>

#### 1.8 PRESENTATIONS

#### 1.9 APPROVAL OF MINUTES

Motion by Mrs. Bernstein, second by Mr. SmithBey approving the following minutes:

Regular Agenda Session/Public Action Meeting Executive Session

April 12, 2011 April 12, 2011

Motion carried, roll call vote was 8-0.

<u>Item 1.9.1</u> Motion by Mrs. Dellaquilla, second by Mr. SmithBey approving the following change in minutes from the April 12, 2011 Public Action Meeting.

### Item 4.4.7 a-d \*Approval of Staff for Summer Curriculum Writing

c. Approved the following staff for summer curriculum writing for Social Studies, Language Arts and World Language from **July 5, 2011** through July 28, 2011. Account #20-237-100-100-00-81.

Name	Curriculum	Salary	Hours	Total
		Hour		Salary
Mary Beth Galex	English 9	\$25.00	48	\$1,200.00
Mary Beth Galex	English 10	\$25.00	48	\$1,200.00
Lauren Martell	English 9	\$25.00	48	\$1,200.00
Lauren Martell	English 11	\$25.00	48	\$1,200.00
Lauren Martell	CP English 12	\$25.00	30	\$750.00
Karli Fratz	English 9	\$28.00	48	\$1,344.00
Karli Fratz	English 10	\$28.00	48	\$1,344.00
Jason James	English 10	\$28.00	48	\$1,344.00
Jason James	English 11	\$28.00	48	\$1,344.00
Jason James	CP English 12	\$28.00	30	\$840.00

Motion carried, roll call vote was 8-0.

The Board reviewed the agenda.

# <u>Item 2.1 a-c</u> \* <u>Approval of Professional Development</u>

- a. Approved Texas Instruments to provide a one day training on the TiNavigator System to BHS Math department on June 3, 2011. The cost is \$1975.00 and will be paid by Account # 20-234-200-320-02-40-CO.
- b. Approved Thomas Meyers, Teacher at Cherry Street School to begin his Administrative Internship at Cherry Street in September 2011- May 2012 with Mr. Sam Hull as his field mentor. There is no cost to the Board.
- c. Approved the 2011 Team Leader Summer Retreat facilitated by TDHS date to be determined. Six teachers will attend at a cost of \$2906.55 to be paid by Title I SIA funding Account # 20-235-100-101-02-40 CO.

# Item 2.2 a-d \* Approval of Student Programs

- a. Approved the name change of "Dynamics of Health Care" course to "Elements of Health Care". This is a dual credit course with Cumberland County College and the title change is necessary to align with the college course title. The curriculum will not change.
- b. Approved the change of the Project Lead the Way Engineering courses at BHS to honors level. (Courses: Introduction to Engineering Design (IED), Principles of Engineering (POE), Digital Electronics (ED), Civil Engineering and Architecture (CEA) and Engineering Design and Development (EDD).

- c. Approved the Character Education Curriculum (Second Step, Steps to Respect, and School Connect). These curriculums will be implemented during remediation periods in the PK-8 grade levels (two days per week) and in the Health curriculum in the 9-12 grade levels. Total Cost \$50,500.00 to be paid by Account #'s 20-237-100-610-00-40, 20-237-200-100-00-40.
- d. Approved the Nutrition Program (SNAP ED) provided by Rutgers Cooperative Extension to all Kindergarten, Second Grade, and Fourth Grade students in the district for the 2011-2012 school year. Rutgers has provided the same approved program since the 2008 school year. For the coming year, they will provide 6 sessions on healthy eating and nutrition to all students in the identified grades. Rutgers Cooperative extension has contacted the building principals, and has received the support and cooperation of these parties. There is no cost to the Board of Education.

# Item 2.3 \*Approval to Rescind BHS Guidance Microfilming of all Records

Rescinded the approval of BHS Guidance Microfilming of all Records at the April 12, 2011 Board Meeting.

### Item 3.1 a-c \*Field Trips

- a. Approved a field trip to HOSA's National Leadership Conference in Anaheim, CA on June 21-26, 2011. 9 students and 3 chaperones will attend. Not to exceed the BOE allotted amount.
- b. Approved Cherry Street School field trip to the Camden Riversharks game on Saturday, May 21, 2011 from 4:30-9:30 PM. This trip is part of our PBSIS initiative. The trip is designed to be a reward for students who have demonstrated positive behavior and received recognition through Cherry Street's PBSIS program. Students will be given an educational packet that incorporates history, geography, science, language arts and math. 1 Principal, 4 Teachers and 40 students Grades 5-8 will attend. There is no cost to the Board.
- c. Approved ExCEL School field trip to the Camden Riversharks game on Thursday, June 16, 2011 from 5:00-10:00 PM. Through Excel's partnership with the Bridgeton Lions Club, each year our students are invited to attend the baseball game with them. The Bridgeton Lions Club supplies the transportation and all costs. 22 students and 3 chaperones will attend.

### Item 4.1.1 a-g \*Approval of Retirements of Certificated Staff

- a. Approved retirement of <u>Ms. Wanda Albizu</u>, Master Teacher at the Geraldyn O. Foster Early Childhood Center, effective July 1, 2011.
- b. Approved retirement of <u>Ms. Mindy Calcagnini</u>, Computer Teacher at West Avenue School, effective July 1, 2011.
- c. Approved retirement of Ms. Eugenia Johnson, Bilingual Grade 3 Teacher at Indian Avenue School, effective July 1, 2011.
- d. Approved retirement of Ms. Patricia Lieberman-Sharp, Kindergarten Teacher at Quarter Mile Lane School, effective July 1, 2011.

- e. Approved retirement of Ms. Judith Quinn, French Teacher at Bridgeton High School, effective July 1, 2011.
- f. Approved retirement of Ms. Patricia Jones, Social Studies Teacher at Cherry Street School, effective July 1, 2011.
- g. Approved retirement of Ms. Shirley Shaw, Grade 4 Teacher at West Avenue School, effective July 1, 2011.

### Item 4.1.2 a-c \*Ratification of Leaves of Absence of Certificated Staff

- a. Ratified request of Ms. Catherine Dailey, Guidance Counselor at Bridgeton High School, for a **Family Medical Leave of Absence and New Jersey Family Leave** with pay using accumulated sick days from November 1, 2010 until sick days are exhausted, then unpaid until patient released from doctor's care, not to exceed 12 weeks, to be used on an intermittent basis.
- b. Ratified request of Ms. Valerie Murdaco, Grade 6-8 Math Teacher at Buckshutem Road School, for a **Family Medical Leave of Absence**, with pay using accumulated sick days from March 29, 2011 to June 30, 2011, or released from doctor's care, not to exceed 12 weeks.
- c. Ratified request of Ms. Rebecca Guess, Principal at Indian Avenue School, for a **Family Medical Leave of Absence** with pay using accumulated sick days from March 1, 2011 until sick days are exhausted, then unpaid until patient released from doctor's care, not to exceed 12 weeks, to be used on an intermittent basis.

### Item 4.1.3 \*Ratification of Leave of Absence of Non-Certificated Staff

Approved request of Mr. James Martin, Custodian at Buckshutem Road School, for a **Family Medical Leave of Absence**, with pay using accumulated sick days from March 2, 2011 to May 15, 2011, or until released from doctor's care, not to exceed 12 weeks.

# Item 4.2.1 \*Approval of Appointment of Certificated Staff

Approved appointment of Ms. Heather Zimmerman to the position of Grade 3 Teacher at West Avenue School for the 2010-2011 school year, retroactive to January 3, 2011, on Step 6 of the BA Salary Guide, \$51,450.00, prorated. Account #15-130-100-101-00-07. PC# 526.

#### Item 4.3.1 a-b\*Approval of Appointments of Non-Certificated Staff

- a. Approved appointment of Ms. Sylvia Clark to the position of Satellite Aide at Cherry Street School for the 2010-2011 school year, effective May 4, 2011 through June 30, 2011, on Step 1 of the Satellite Aides' Salary Guide, \$9.29 per hour, 2 hours per day, \$3,344.00, prorated. Account #60-000-000-01. PC #277.
- b. Approved appointment of Ms. Arletha Lane to the position of Senior Executive Administrative Assistant to the Superintendent of Schools for the 2010-2011 school year, effective May 9, 2011, at the salary of \$66,000.00, prorated. Account #11-000-230-105-04-15. PC # TBD.

Item 4.3.2 \*Approval of Transfers of Non-Certificated Staff

Approved the following transfers of non-certificated staff for the 2010-2011 school year, effective May 4, 2011:

Name	From	То	Account #
James Martin	Day Custodian/ Boiler	Day Custodian/	11-000-262-110-00-23
	Operator – Buckshutem	Boiler Operator –	
	PC #284	Broad PC #324	
Albert Johnson	Night Custodian/	Day Custodian –	11-000-262-110-00-23
	Boiler Operator –	GOFECC PC #34	
	GOFECC PC #670		
Robert Ratliff	Day Custodian –	Day Custodian/	11-000-262-110-00-23
	GOFECC PC #34	Boiler Operator –	
		Buckshutem PC	
		#284	

# <u>Item 4.4.1</u> \*<u>Approval of Substitutes</u>

Approved the following substitutes for the 2010-2011 school year:

Name	Position	Certificate	Rate	Account #
Al'Asia Wallace	Substitute Teacher	County	\$80.00/day	To be determined
Terry Tirrell	Substitute Teacher	Standard	\$90.00/day	To be determined
		Elementary		
Herbert	Substitute Teacher	CEAS	\$80.00/day	To be determined
Caughman		Elementary		
Iris Santiago	Aide with 60 credits	County	\$35.00/day	To be determined
Catherine Baker	Substitute Cafeteria	N/A	\$8.33/hour	60-000-000-000-
	Aide			01
Catherine Baker	Substitute Breakfast	N/A	\$8.49/hour	60-000-000-000-
	Aide			02

# Item 4.4.2 a-c \*Approval of Staff for Previously Approved Summer Programs

a. Approved the following staff for the previously approved Summer Migrant Program for the 2011-2012 school year, effective July 5, 2011 through August 11, 2011 at Cherry Street School. Accounts #20-236-200-102-00-40, #20-236-200-104-00-40, #20-237-100-101-00-40, and #20-236-100-106-00-40.

Name	Position	Salary/Hrs.	Hours	Total
				Salary
Derek Macchia	Coordinator	\$35.00/hour	144	\$5,040.00
Yvonne Scull	Nurse	\$30.00/hour	144	\$4,320.00
Maria Fernanda Mesias	Preschool Teacher	\$25.00	144	\$3,600.00
Sarah Arenberg	Preschool Teacher	\$25.00	144	\$3,600.00
Vicki Andrews	Kindergarten Teacher	\$25.00	144	\$3,600.00
Anita D'Ambra	Grade 1 Teacher	\$25.00	144	\$3,600.00
Mary Jane Feaster	Grade 2 Teacher	\$25.00	144	\$3,600.00

Steven Maloney	Grade 3 Teacher	\$28.00	144	\$4,032.00
Lisa Heisroth	Grade 4/5 Teacher	\$25.00	144	\$3,600.00
Sharon Pinkerton	Grade 6/7 Teacher	\$28.00	144	\$4,032.00
Tania Witter	Grade 8/9 Teacher	\$25.00	144	\$3,600.00
Sharon Foster	Grade 10/11/12	\$25.00	144	\$3,600.00
	Teacher			
Jaclyn Hall	Tech. Teacher	\$25.00	144	\$3,600.00
Robert Gallagher	PE Teacher	\$25.00	144	\$3,600.00
Maria Hemple	Aide	\$15.31	144	\$2,204.64
Aaron Pope	Aide	\$15.31	144	\$2,204.64
Olive Doss	Aide	\$15.31	144	\$2,204.64
Concetta Ford	Aide	\$15.31	144	\$2,204.64
Marvia Butler	Aide	\$15.31	144	\$2,204.64
Wally Lamboy	Parent Liaison	\$18.18	144	\$2,618.00

b. Approved the following staff for the previously approved Special Education Extended School Year Program for the 2011-2012 school year, effective July 5, 2011 through August 11, 2011 at Cherry Street School. Accounts #20-251-200-104-00-40, #20-251-100-101-00-40, #20-251-100-106-00-40, #20-211-200-110-03-01.

Name	Position		Hours	Total
				Salary
Margie Woerner	Teacher	\$25.00	149.5	\$3,737.50
Christine McGowan	Teacher	\$28.00	149.5	\$4,186.00
Joseph Terrigno	Teacher	\$25.00	149.5	\$3,737.50
Carol Phister	Teacher	\$28.00	149.5	\$4,186.00
Meghan Choyce	Teacher	\$28.00	149.5	\$4,186.00
Sandra Pipitone	Speech Therapist	\$25.00	149.5	\$3,737.50
Melanie Husted-Halter	Physical Therapist	\$25.00	149.5	\$3,737.50
Elaine Meeker	Substitute Teacher	\$25.00	As	N/A
			needed	
Gloria Farrell	Instructional Aide	\$15.31	149.5	\$2,288.84
Heather Zoyac	Instructional Aide	\$15.31	149.5	\$2,288.84
Janette Corley	Instructional Aide	\$15.31	149.5	\$2,288.84
Tony Thomas	Instructional Aide	\$15.31	149.5	\$2,288.84
Ronda Carney	Instructional Aide	\$15.31	149.5	\$2,288.84
Gloria Farrell	Bus Aide	\$11.76	46	\$540.96

c. Approved the following staff for the previously approved Bilingual Summer School for the 2011-2012 school year, effective July 5, 2011 through August 11, 2011 at Quarter Mile Lane School. Accounts #20-241-200-102-00-40, #20-241-100-101-00-40.

Name	Position	Salary/Hour	Hours	Total
				Salary
Olga Rivera	Coordinator	\$35.00	184	\$6,440.00
Teresa Torres	Grades K-1	\$25.00	184	\$4,600.00
Peggy Minervini	Grades 2-3	\$25.00	184	\$4,600.00
Liz Medina	Grades 4-5	\$25.00	184	\$4,600.00
William Soto	Grades 6-8	\$28.00	184	\$5,152.00

Item 4.4.3 \*Approval of Staff for Summer Child Study Team

Approved the following staff for the Summer Child Study Team from July 5, 2011 through August 19, 2011. Account #11-000-219-104-01-18.

Name	Position	Salary
Tammy Whitby	Psychologist	\$275 per case with meeting
Amanda Nnachetam	Psychologist	\$275 per case with meeting
Alphefia Blount	LDT/C	\$275 per case with meeting
Danna Johnson	Social Worker	\$245 per case with meeting
Sandra Pipitone	Speech Therapist	\$25.00 per hour as needed
Melanie Husted-Halter	Physical Therapist	\$25.00 per hour as needed
Vicki Andrews	Regular Education Teacher	\$25.00 per hour as needed
Jill Lewis	Regular Education Teacher	\$25.00 per hour as needed
Nancy Tupper	Regular Education Teacher	\$25.00 per hour as needed
Sarah Turner	Regular Education Teacher	\$25.00 per hour as needed
John Wuzzardo	Special Education Teacher	\$25.00 per hour as needed
Travis Ludwick	Special Education Teacher	\$25.00 per hour as needed
Elaine Meeker	Special Education Teacher	\$25.00 per hour as needed
Margie Woerner	Special Education Teacher	\$25.00 per hour as needed
		when not working other
		program
Christine McGowan	Special Education Teacher	\$28.00 per hour as needed
		when not working other
		program
Joseph Terrigno	Special Education Teacher	\$25.00 per hour as needed
		when not working other
		program
Carol Phister	Special Education Teacher	\$28.00 per hour as needed
		when not working other
		program
Wally Lamboy	Translator	\$18.00 per hour as needed

<u>Item 4.4.4</u> \*<u>Approval of Staff for Summer Technology Installation/ Maintenance</u>
Approved the following staff for the Summer Technology Installation/ Maintenance from July 1, 2011 through August 31, 2011. Account #20-277-100-101-00-40.

Name	Position	Salary/	Hours	<b>Total Salary</b>
		Hour		
Jeffrey Meeks	Technology Coordinator	\$25.00	35	\$875.00
Lois Marcasciano	Technology Coordinator	\$28.00	35	\$980.00
Jeffrey Hyson	Technology Coordinator	\$25.00	35	\$875.00
Dawn Holton	Technology Coordinator	\$25.00	35	\$875.00
Nathan Thomas	Technology Coordinator	\$25.00	35	\$875.00
Rufus Wright	Technology Coordinator	\$25.00	35	\$875.00
Robert Fink	Technology Coordinator	\$25.00	35	\$875.00

# Item 4.4.5 \*Approval of District Videographer

Approved Mr. James Boner as the district videographer from July 1, 2011 through June 30, 2012 at the salary of \$25.00 for 40 hours on an as needed basis, total salary \$1,000.00. Account #15-140-100-101-02.

# Item 4.4.6 \*Approval of Preschool Bus Aide

Approved Mr. Carlos LeBron as a substitute bus aide at the Geraldyn O. Foster Early Childhood Center for the 2010-2011 school year, effective May 4, 2011, at the salary of \$8.40 per hour on an as needed basis. Account #20-218-200-110-00-01.

# Item 4.4.7 \*Approval of Staff for Rowan University Internship

Approved the following staff for the Rowan University School Psychologist Internship for the 2011-2012 school year:

Name	Hours	Stipend
Morgan Duggan	28 per week	\$10,000.00
Gregory Esposito	28 per week	\$10,000.00

# <u>Item 4.4.8 a-e \*Approval of Rehire of Personnel for School Year 2011-2012</u>

a. Approved the personnel who are recommended for rehire for the 2011-2012 school year. The Superintendent is directed to notify the persons of the action taken by the Board.

# (\* Will become tenured during the 2011-2012 school year)

# **Tenured Principals**

Dawson, Dr. Roy

Guess, Rebecca

Hull, Samuel

Little, Susan

Merriweather, Dr. Celeste

Williams, Lynn

# Non-Tenured Principals

Barlas, Christine

Johnson, Dr. Kia

## **Tenured Assistant Principals**

Ahmad, Dr. Azeem

Brown, Karl

Goins, Thomasine

Ingram, Tara

Jamerson, Wendy

Lynch, Stephen

Macchia, Derek

Rivera, Olga

# **Non-Tenured Assistant Principals**

Curio, Samuel

Morris, Steven

\*Porch, Kimberly

#### **Tenured Supervisors**

Boone-Gbesi, Veronica

Cubbage, Timothy

DiPatri, Stephen

Giorgio, Dorian

Sewall, Bronwen

#### **Tenured Teachers**

Abbott, Erin

Ahmad, Sonya

Almeida, Olga

Amaranto, Roseann

Amendt-Smith, Maria

Andrews, Vicki

Angle, Claudia

Arenberg, Sara

Astore, Lauren

Backman, James

Bagley, Andrew

Baldwin, Clifford

Barksdale, Linda

Barry, Wilbert

Basile, Erin

Bates, Fallon

Beattie, Deborah

Beck, Jennifer

Benner, Susan

Bennett, Marguerite

Bentz, Mary

Bergamo, Mary Lou

Berkley, Barbara

Birdsall, Charlotta

Blackburn, L. Candy

Blew, Lara

Board, Taj'a

Boner, James

Brandon, Mary

Brenner, Matthew

Bridges, Shawn

Brooks, Lisa

Brown, Jennifer

Bubeck, Michael

Buirch, Warren

Burger, Helen Marjorie

Burgess, Lisa

Burnett, Tammy

Butler, Denice

Cairone, Sarah

Canino, Maria

Capecci, Sara

Carman, Linda

Carminati, Nicole

Carolla, Jesse

Carr, Scott

Carr, Wanda

Carroll, Elizabeth J.

Carter, Robin

Chance, Donna

Chanez-Mendia, Jose

Choyce, Meghan

Cifaloglio, Stacy

Cintron, Diana

Clark, Ann

Clarke, Sara

Collins, Carmen

Collins, Gina

Connor, James

Connor, Sandra

Cooper, Gloria

Cornelius, Caroline

Cosby, Kimberly

Cossaboon, Mary V.

Cotler, Christy

Cranmer, Charlene

Crilley, James

Cuff, Barbara

Cuff, Bernadette

Cuff, Stacie

Cullen, Raina

Cummines, Sheri

D'Agostino, Erin

Dalton, Nichole

D'Amato, Nina

D'Ambra, Anita

Darpino, Silvia

Davis, Leonard

Dawson, Jacquelyn

DeHoyos, Ada

Denby, Sherman

DeShields, Maurice

DiGregorio, Marcie

#### **Tenured Teachers Continued**

Donaghy, Megan

Donohue, Eleanor

Doto, Jaime

Douglas, Cherie

Duncan, Pamela

Early, Lisa

Edwards, Jodie

Ellen, David

Emery, Debra

Engber, Seth

Evans, Shannon

Ewing, Margaret

Exel, Alice

Fallon, Kathleen

Feaster, Mary Jane

Ferenz, John

Ferrara, Francis

Filler, Matthew

Ford, John

Foster, Sharon

Frangakis, Kiriakos

Franklin, Rebecca

Fratz, Karli

Fravel, Mary

Frazier, Chantel

Fredrick, Cindy

Frost, Douglas

Fusco-Dennis, Trisha

Galex, Mary Beth

Gallagher, Robert

Garcia, Jaime

Garrett, Tamika

Garrison, Mary

Garwood, Jennifer

Garza, Isaias

Gentry, Jacqueline

Giddens, Shirley

Gilsky, Cathryn

Glenn, Renee

Gonzalez, Benjamin

Goraj, Heather

Green, Jamie

Gunter, Charlene

Gutsick-Smith, Anne

Guyer, Irene

#### **Tenured Teachers Continued**

Guyon, Meghan

Hagerty, Valerie

Hall, Jaclyn

Hancock, Sarah

Harris, Deborah

Hawkes, Kathryn

Heisroth, Lisa

Hemphill, Meredith

Henry, Mary Ellen

Hoblitzell, Carol

Hodinka, Charlene

Hoffner, Maryann

Hogan, Brandy

Holder, James

Holloway, Yvonne

Holst, Kelly

Hughes, Holly

Hunter, Elinda

Iapalucci, Christine

Jackson, Linda

James, Jason

James, Sandra

Johns, Karen

Jorgenson, Lori

Jublou, Stephen

Juhasz, Lori

Kane, Joseph

Keating-Johnson, Patricia

Kennedy, Vincent

Kimble, Debra

Koscianski, Donna

Krokos, Mary Jane

Lamanteer, Denise

Lancaster, Kristi

Land, Devon

Lane, Jennifer

Langley, Donna

Laspada, Joseph

Leise, Jael

Lester, Deborah

Lewis, Jill

Lucca, Nancy

Ludwick, Travis

Macchia, Jeannine

MacDade, Robin

#### **Tenured Teachers Continued**

Maddrey, Shanell

Maloney, Steven

Marinacci, Jerry

Marshall, Jennifer

Martell, Lauren

Martinelli, Kathleen

Mason, Gina

Mattheussen, Janet

McBride, Kenyetta

McConnaughey, Lynette

McEneaney, Tracy

McGill, Joan

McGowan, Christine

Meeker, Elaine

Meeks. Kevin

Mendolera, Christina

Meneghini, Marie

Meyers, Thomas

Mezik, Barbara

Monastra, Ann

Montgomery, Deidre

Moore, Debra

Morales, Kimberly

Morris, Martina

Mosley, Dianna

Moyet, Quetci

Mulford, Starr

Murphy, Belinda

Nash, Kevin

Nicholson, Sandy

Nickle, Christina

Nicosia, Lauren

Niemeyer, Candice

Nitka, Susan

Noel, Mary

Nurul-Islam, Wadudah

Nye, Mary Jane

O'Boyle, Cynthia

O'Brien, Elizabeth

Ordille, Mary

Oribabor, Peris

Ostrum, Nicole

Owens, Shirley

Pacheco, Johanna

Pai, Dr. Anne Marie K.

#### **Tenured Teachers Continued**

Panas, Tracey

Pastirko, Kimberly

Perrotti, Margaret

Perticari-Olbrich, Beth

Peterson, Karen E.

Pettit, Donna

Pfaff, Brenda

Pfeffer, Michelle

Phister, Carol

Pierce, Sally

Pierce, Sharette

Pinkerton, Sharon

Portale, Geoffry

Powell, Suzanne

Pratta, Mary Ann

Propert, Margaret Mary

Pudelko, Melanie

Rainier, Sterling

Raisch, Kelly

Ramos, Ana

Randall, Curtis

Ranson, Cynthia

Ratliff, Kathleen

Raybould, Mark

Reeves, Lillian

Repp, Amy

Reynolds, Susan

Richardson, Dawn

Riley, Denise

Rinck, Jeannine

Ripa, Heather

Rivera-Delgado, Linda

Romero, Hilda

Rongone, Gina

Rosario, Lisa

Roser, Rochelle

Ryman, Pamela

Sanders, Jennifer

Santiago, Linda

Saul, Stephanie

Scarpa, Christine

Schiapelli, Donna

Schoppe, Kristi

Scribner, Darlene

Seabrook, Gretta

#### **Tenured Teachers Continued**

Segrest, Barbara

Shaner-Rauer, Gloria

Sharp, Kathleen

Shephard, Sharon

Shepherdson, Mary

Sherman, Tara

Siciliano, Victoria

Simmons, Daniel

Singletary, Antonio

Skala, Kevin

Smith, Christine

Smith, David

Smith, Joyce A.

Smith, Sherri

Snead, Julie

Soto, Alice

Sparacio, Mary Anne

Stech, William

Steiner, Reba

Stevenson, Dawn

Street, Romaine

Suarez, Kimberly

Sylvester, Linda

Talavera, Patricia

Taylor, Cynthia

Taylor, Jeanine

Taylor, Leah

Teklits, Joseph

Terrigno, Joseph

Teti, Marie

Thompson, Andrew

Thompson, Bentley

Thompson, Maria

ThrBak, E. Deionne

ThrBak, Tiffanie

Tichenor, Dawn

Toner, Ellen

Totino, Michael

Trainor, Suzanne

Tupper, Nancy

Turner, Sarah

Turner, William

Valella, Michael

Van Liew, Carol

Vargas, Tracy

#### **Tenured Teachers Continued**

Waddington, Isolde

Walther, Mary

Ward, Francis

Wardwell, Cherise

Waterman, William

Weinstein, Brian

White, LaToya

Wible, Ruth

Wilchensky, Barbara

Wilks, Cornelius

Wilks, Cynthia

Wilks, Gloria

Williams, Trudy

Williams, Wendy

Wilson-Franzoi, Patti

Witter, Anthony

Witter, Tania

Woerner, Margie

Wood, Dolores

Workman, Danielle

Wraight, Jacqueline

Wroblewski, Christina

Wulderk, Tara

Wuzzardo, John

York, Jennifer

Young, Lori

Ziefle, William

Zimmerman, Heather

# **Non-Tenured Teachers**

Akers, Julie

\*Alvarez, Veronica

Alvarez, Waleska

Beddia, Kimberly

Bittner, Elyse

Brown, Nicholas

\*Butler, Nicole

Castro, Viviana

Colon, Sugeil

\*Coppola, Michael

\*Cuevas, Ivelisse

DeRose, Mario

Eckstein-Lewis, Dr. Kathryn

Garcia, Norma

\*Goga, Elle

\*Goodnight, Stephen

#### **Non-Tenured Teachers Continued**

Harris, Kasie

\*Harvey, Jane

Hernandez, Reina

\*Kelley, Teana

\*Kirschbaum, Stephanie

\*Konschak, Jillian

Lampe, Nicholas

\*Lawless, Robert

Martinez, Diomedes

\*Mason, Tarin

Medina, Liz

\*Mehaffey, Dannon

\*Mendez, Maria

Mesias, Maria Fernanda

Minervini, Peggy

Monje, Florinda

Morales, Eileen

\*Morton, Michael

Murphy, Lisa

\*Negron, Angelic

Niedzielski, Margaret

Nieves-Alvarez, Sheila

\*Ortiz, Arlene

\*Parsinitz, Lauren

Pescador, Leticia

Preyer, Tyrone

Queripel, Christine

Quiros-Molina, Daniel

\*Reed, Nathan

Rivera, Diana

Rojas, Alicia

Schnur, Amanda

Serrano, Camilo

Shuler, Magda

\*Simpson, Dinesha

Soto, Lucy

Soto, William

\*Spoltore, Patricia

Stebbins, Victoria

Stetser, Natalie

Suarez, Carmen Lopez

Sundell, Andrew

\*Taberna, Fabiana

Torres, Teresa

Walkowitz, Stacy

Winchell, Sara

Witkowski, Patricia

# **Tenured Counselors**

Brooks, Esther

Dailey, Catherine

Jackson, Elaine

Kane, Boni

Keith, Marie

Martinez, Jesus D.

Pierce, Gladys

Saulin, Leigha

# **Tenured Counselors**

Vagnarelli, Bruno

# **Non-Tenured Counselors**

Fanning, Larissa

Grinnage, Germanae

Sokolic, Beth

# **Tenured SAC**

Ida Bonavito-Baduini

# **Tenured Educational Media Specialists**

Ayars, Jennifer

Fallon, Sean

Kryszczak, Stanley

LeCates, Debra

Seibert, Jennifer

Trefsger, Lugene

# **Non-Tenured Educational Media Specialists**

\*Conklin, Corey

Moody, Mary

# **Tenured School Nurses**

Campanella, Gina

Cervini, Linda

Knecht, Patricia

Lewis, Suzan

Loatman, Lori

Ross, Patricia

Scull, Yvonne

Sharp, Susan

#### **Non-Tenured School Nurses**

Franco, Delores

Pierce, Kyrsten

Ruthig, Jane

Spellman-Benjamin, Mona

### **Tenured Speech Language Specialists**

Foster, Tara

Lombard, Marie

Pipitone, Sandra

Richmond, Cheryl

Storms, Linda

### **Non-Tenured Speech Language Specialists**

Aviles-Childers, Juanita

Marrone, Jamie

#### **Non-Tenured Physical Therapist**

Husted-Halter, Melanie

#### **Tenured Athletic Trainer**

Schirf, Jeffrey

# **Tenured Social Workers**

Apostle, Guia

Gray, Allison

Johnson, Danna

Johnson, Mary

Kates, Charles

Lopez, Karen

Marroquin, Kristen

Masucci, Thomas

## **Tenured School Psychologists**

Koenig, Lara

Waterman, Susan

Whitby, Tammy

# **Non-Tenured School Psychologists**

Harris, Kirby

\*Nnachetam, Dr. Amanda

# **Tenured LDT/Cs**

Blount, Alphefia

Gibson, Maryann

Hetzell, Sharon

Owens-Jones, Karen

# **Non-Tenured LDT/C**

Jones, Susanne

#### **JROTC Instructors**

Linen, TSgt. George

Parks, Maj. Michael

#### **Tenured Bookkeepers**

Clark, Carol

Joynes, Vinchelle

# Non-Tenured Bookkeeper

\*Boner, Allison

#### **Tenured Office Managers**

Cwik, Rose Marie

Watty, Janine

# **Tenured Secretaries**

Abbott, Sharon

Bermudez, Damaris

Bond, Donna

Bordley, Beatrice

Bostwick, Aida Lee

Bowen, Deidra

Brown, Brandi

Buirch, Laurie

Caine, Jane

Cheeseman, BetteJean

Corson, Sandra

Gandy, Lois

Garcia, Elizabeth

Gilman, Barbara

Granato, Renee

Gutowski, Veronica

Halter, Kathleen

Hess, Jackie

Hitchner, Gwen

Holt, Karen

Horner, Amy

# **Tenured Secretaries Continued**

Hummel, Karen

Knerr, Lisa

Lee, Peggy

Linen, Lennita

MacMahan, Deborah

May, Terri

Menz, Candy

Perella, Cynthia

Pierce, Joqueta

Price, Linda E.

Putnam, Dale

Rio, Sarilee

Robinson, Rosemary

Rosa, Ruth

Slade, Kate

Smith, Christina

Solano, Loyda

Stanfa, Donna

Stanley, Melodie

Stone, Sheri

Stutzmann, Jennifer

Sweet, Mary

Turpin, Madora

Vohland, Barbara

Watkins, Cynthia

# **District Translator**

Reber, Celina

# **Bus Drivers**

Brown, Mildred

Burt, Eleanor

Cabegin, Jill

Cassidy, Sharon

Connelly, John, Jr.

Cossaboon, Evelyn

Davis, Claire

Digue, Carol

Edwards, Donna

# **Bus Drivers Continued**

Fogg, Metta

Garcia, Angela

Glessner, Deborah

Green, Lyshon

Holding, Christina

Juliano, Candie

Kinkade, Kathy

Levine, Beverly

McAllister, Marie

Muniz, Luciano

Omura, Barbara

Ortiz, Angel

Pichardo, Marilu

Pierce, Dorothy

Reed, Angelina

Reilly, Donna

C. I. C. I.I. D. .1

Schofield, Beth

Shafer, Elizabeth Locke

Sheats, Carol

Smith, Audrey

Sorrell, Mimia

Staples, Lillie

Stassi, Michelle

Williams, Tracey

Zoyac, Patricia

#### **Cafeteria Workers**

Bard, Tanya

Bennett, Cheryl

# Cafeteria Workers continued

Cobb, Phyllis

Comer, Audrey

Diorio, Rachele

Falzone, Deborah

Flournoy, Denise

Goff, Monique

Hammer, Kathy

Hart-Gibbons, Doreen

Iannarelli, Johann

Johnson, Harriet

Lewis, Amanda

McClain, Bonnie

Melchiorre, Christine

Murphy, Edwina

Murray, Brandi

Nunez, Dorcas

Schweibinz, Susan

Shaffer, Robin

Sloan, Cynthia

Soto, Jasmine

Thompson, Barbara

Vila, Mildred

Waller, Marie

#### **Instructional Aides**

Akers, Christina

Albino, Virgen

Ballinger, Linda

Betancourt, Lorraine

Bonner, Josette

Bradford, Donna

Buono, Virginia

Burrell, Catherine

Butler, Marvia

Carlaw, Terri

Carney, Ronda

Carrero, Ines

Carter, Jeffrey

Cherry, Marie

Cole, Penelope

Corey, Denise

Corley, Janette

Curry, Brenda

DeMaio, Diane

Denby, Evelyn

Diaz, Carlos, Jr.

DiJoseph, Amy

Doss, Olive

Edwards, Doris

English, LaCoya

Farrell, Gloria

Figueroa, Elia

Figueroa, Elsie

Figueroa, Olga

Ford, Concetta

Fortescue, Linda

Foster, Dawn

Garton, Tara

Goldsborough, Dominique

Griner, Christal

Gunter, Audrey

Hanby, Barbara

Heath, Beverly

Hemple, Maria

Hester, Essence

Holladay, Deborah

Jackson, Barbara

Kellen, Melissa

Lamboy, Wally

Laspada, Jacquelyn

LeBron, Carlos

Lebron Rivera, Denisse

Lentine, Joan

Limbekar, Nagaratna

Lugardo-Hemple, Gladys

McCarthy, Jamie

McKnight, Bonnie

Mendoza, Maria Teresa

Merritt, Lori

Milligan, Patricia

Morales, Maria

Moran, Luz

Nakai, Gloria

Ocasio, Mikedaniel

Ohara, Sheila

Papiano, Roselee

Parisi, Nelia

Parker, Robert

Peterson, Jan Marie

Peterson, Sharon

Pierce, Shawna

Pope, Aaron

Propert, Jonathan

Pustizzi, Jennifer

Richards, Susan

Rogers, Tabitha

Santiago, Iris

Schiewe, Toni

Sergeant, Shawn

Shimp, Jessica

Simons, Amy

Singletary, Daniel

Small, Lucinda

Smith, Linda

Thomas, Tony

Tlaseca, Mayeni

Trenado, Penelope

Tupper, Rebecca

Vasquez, Audrey

Walinsky, Megan

Watson, Gwendolyn

Watson, Leslie

Williams, Brenda

Wilson, Barbara

Worley, Sheri

Zoyac, Heather

# **Satellite Aides**

Carroll, Elizabeth R.

Celaya-Deojeda, Marianna

Clark, Mikilea

Counsellor, Sallie

Dantzler, Shirley

# **Satellite Aides continued**

Dawkins, Tamara

Jackson, Delores

Marlette, Donna

Martin, Ethel

Russell, Jacqueline

Scott, Tammy

Thomas, Laura

Williams, Cynthia

Williams, Elizabeth

# **Cafeteria Aides**

Cortes, Elizabeth

Girtain, Donna

#### **Bus Aides**

Birdsall, Gladys

Jacobs, Tammie

Patrick, Sharon

Pennington, Tara

Santamaria, Clara

Wright, Tavaris

# **Security Monitors**

Boyle, Hugh

Brown, Jethro

Hall, Leston

Nieves, Jesus

Pierce, Nelson

Randolph, Michael

Rodriguez, Alexis

Sweazie, Delia

# **NON-AFFILIATES**

# **Tenured School Business Administrator**

Schoener, Nicole

# **Tenured Special Education Administrator**

Doran, Dr. Christopher

# **Non-Tenured Director of Human Resources**

Everett, Terrell M.

### **Tenured Director of Student Personnel Services/Data Analyst**

Tavani, Dr. Christopher

#### **Tenured Director of Curriculum**

Realdine, Dr. Dorothy

#### **Tenured Director of Early Childhood**

Robinson, Dr. Tanya

#### **Tenured Assistant School Business Administrator**

Kelley, Timothy

# Labor Relations Administrator/ House Counsel

Kienzle, Jr., A. Paul

# **Tenured Affirmative Action Officer/ Innovative Programs Coordinator**

Williams, Tyrone

#### **Community & Parental Involvement Specialist**

Lane, Arletha

#### **Attendance Officers**

Fields, Gloria

Santana, Jennifer

Williams, Osco

# **Parent Liaisons**

Bard, Donna

Boyd, Jenifer

Lane-Slater, Sharyne

#### **Homeless Coordinator**

Powell-Chestnut, Joanna

### **District Facilities Manager**

Olusa, Oloruntobi

# Early Childhood Fiscal Specialist

Staffieri, Michael

#### **Director of Food Services**

Bodine, Mariann

#### **Assistant Director of Food Services**

DeShields, Warren

#### **Assistant Food Service Managers**

Butcher, Nicole

Santana, Melissa

# Cafeteria Manager

LaPelusa, Leonetta

# **Non-Tenured Director of Technology**

Willis, Mark

# **District Technology Specialist**

Wilson, John

# **Network Technology Specialist**

Randall, Brian

#### **Talent 21 Technology Specialist**

Trenado, Benjamin

#### **District Technologist**

Gomez, Armando, Jr.

# Non-Tenured Administrative Assistant/Office Manager

\*Concordia, Robin

#### **Tenured Administrative Assistants/Office Managers**

Peterson, Shelly

Staffieri, June

Thompson, Elizabeth

# **Tenured Confidential Secretaries**

Watty-Jones, Judith

White, Cheryl

# **Non-Tenured Payroll Managers**

Buirch, Lynne

Ott, Terri

# **Non-Tenured Benefits Manager**

McCoy, Cherie

# Accountant

Craft, Clayton

# **Transportation Coordinator**

Olbrich, Sharon

# **Assistant Transportation Coordinator**

Peterson, April

# **Buildings and Grounds Supervisor**

Smith, Thomas

### **Maintenance Supervisor**

Shimp, John

# **Assistant Buildings and Grounds Supervisors**

Doss, Vaughn

Street, Ronald

# **School Safety and Security Coordinator**

Stevens, Robert

# **Educational Enforcement Officer/ Assistant Coordinator**

Leyman, Charles

#### **Crisis Intervention Specialist, Trainer**

Wright, Alicia

#### **Crisis Intervention Specialist**

Scarpa, Richard

#### Mail Messenger

Burlingame, James

# **Teachers Registry**

Taylor, Lynette

# **Treasurer of School Monies**

Pierce, Mary

b. Approved the Facilitator who is recommended for rehire for a fixed term July 1, 2011 to June 30, 2012. The Superintendent is directed to notify the persons of the action taken by the Board.

#### **Facilitator**

Horwitz, Karen

c. Approved the School Technology Teachers/Coordinators who are recommended for rehire for a fixed term July 1, 2011 to June 30, 2012. The Superintendent is directed to notify the persons of the action taken by the Board.

# **Tenured School Technology Teachers/Coordinators**

Fink, Robert

Holton, Dawn

Hyson, Jeffrey

Marcasciano, Lois

Meeks, Jeffrey

Thomas, Nathan

Wright, Rufus, Jr.

d. Approved the Maintenance Staff and Custodians who are recommended for rehire for a fixed term July 1, 2011 to June 30, 2012. The Superintendent is directed to notify the persons of the action taken by the Board.

#### Maintenance

Bosco, Robert

Exel. Edward

Ferguson, Dale

Fleming, Timothy

Hovermann, Fred

Jessat, Horst

McPherson, Charles III

# **Custodians**

Allen-Newton, Barbara

Banks, Gene

Barker, Michael

Bowers, Ronald

Bradford, Robbin

Camacho, Hector

Chappius, Kevin

Cordero, Carlos

Cordero, Eduardo

Cordero, Raul

Devine, Daniel

Fairman, Joseph

Francis, Corey

Goldsboro, Bryant

Grant, Lloyd, Jr.

Hernandez, Rosalba

Hernandez, Takara

Hilton, Ronald

Hitchner, Donald

Johnson, Albert

Jones, Ryan

Loatman, John

Lopez, Hector

Lozada, Giomary

Lugo, Selinette

Mackey, Thomas

Marlow, Edward

Martin, James

Mendoza, Henry

Metcalf, Carl

Metcalf, Earnest

Miller, James

Mosley, Walter

Orozco, Antonio

Peterson, James

Pierce, Albert

Pierce, Henry

Pierce, Milton

Powell, Martin

Ratliff, Robert

Rocap, John

Sheppard, Larry

Shinn, Robert Soone, Peter Tiltmann, Christopher Vega, Pedro Williams, Glendon

e. Approved the Educational Enforcement Officers who are recommended for rehire for a fixed term July 1, 2011 to June 30, 2012. The Superintendent is directed to notify the persons of the action taken by the Board.

# **Educational Enforcement Officers**

Bailey, Eric Brown, Larry Kwap, Robert MacFarland, H. Fred Marquez, Leopoldo McGuigan, David Ott, Karla Romanik, Michael, Sr.

# <u>Item 5.1.1</u>

# \*Approval of Bills April 2011

Approved the April bills be paid as follows:

11-Current Expense	\$ 543,974.03
12-Capital Outlay	-
13-Special Schools	-
15-Whole School Reform	32,590.09
20-Special Revenues	443,866.78
30-Capital Projects	-
40-Debt Service	-
60-Enterprise Fund	131,473.97
70- Internal Service Fund	13.64
Health Benefits	1,090,331.79
Payroll	4,573,167.34
TOTAL	\$ 6,815,417.64

#### Item 5.1.2 a-b

### \*Approval of Financial Reports

- a. Approved the March Treasurer's Reports for the 2010-2011 school year.
- b. Approved the March Board Secretary's Report for the 2010-2011 school year.

### Item 5.1.3 \*Approval of Board Secretary's Certification

Approved the Board Secretary's Monthly Certification of Budgetary Status for March 2011.

Pursuant to N.J.A.C. 6:20-2A.10(d), I certify that as of March 31, 2011 no major budgetary account or fund has been over-expended in violation of N.J.A.C. 6:20-2A.10(a).

Nicole M. Schoener, Board Secretary

Date:

#### Item 5.1.4 \*Approval of Certification of Major Account/Fund Status

Approved the Board of Education's Monthly Certification of Major Account/Fund Status. Pursuant to N.J.A.C. 6:20-2A.10 (e), we certify that as of March 31, 2011, 2011 after review of the secretary's monthly financial report (appropriations section) and upon consultation with the appropriate district officials that to the best of our knowledge no major account or fund has been over-expended in violation of N.J.A.C. 6:20-2A.10(b) and that sufficient funds are available for the remainder of the fiscal year.

# Item 5.1.6 \*Approval of Donation

Approved the acceptance of a donation of the following: 20-HP DC7600 with 80G Hard Drive, 1G RAM, Keyboards, Mice and Speakers; 7-HP DC7700 with 80G Hard Drive, 1G RAM, Keyboards, Mice, Speakers and 19" Flat Screens; 4-Lexmark Laser Printers. The donation is coming from the Social Security Administration, New York Region Area 5 (Bridgeton/Glassboro).

# <u>Item 5.1.7</u> \*<u>Approval of ESY / Tuition</u>

Approved the Summer 2010-2011 Extended School Year program July 5 – August 11, 2011and the 2011-12 tuition of \$13,526.00 to Deerfield Township for student attending Buckshutem Cog-Moderate program.

#### Item 6.1.1 a-b

#### \*Facility Usage

- a. Approved the request of Bridgeton English Seventh Day Adventist Church to use the Broad St. Auditorium for Seminar on May 13, 14, 15, 17 & 19 from 7:00pm to 9:00pm. Custodial fees of \$396.24 and rental fees of \$350.00 will be charged. An appropriate insurance certificate is on file. Approval is granted contingent on the understanding that school activities take precedence. If a school facility is required for a school activity, board approval is revoked.
- b. Approved the request of the City of Bridgeton to use the Broad St. Auditorium and classroom for 325 Beauty Pageant on Saturday, June 11<sup>th</sup> from 4:00pm to 9:00pm. custodial fees of \$184.68 and sound tech. fees of \$60.00 will be charged. An appropriate insurance certificate is on file. Approval is granted contingent on the understanding that school activities take precedence. If a school facility is required for a school activity, board approval is revoked.

Motion by Mrs. Bernstein, second by Mrs. Dellaquilla approving consent agenda. **Motion carried, roll call vote was 8-0.** 

### **Item 7. Non-Consent Agenda**

# <u>Item 4.4.9</u> <u>Ratification of Suspension and Return from Suspension of Non- Certificated Staff</u>

Motion by Mr. Morgan, second by Mrs. Dellaquilla ratifying suspension without pay of a certificated staff member, whose name has been filed with the Director of Human Resources, effective April 11, 2011 and return from suspension, effective April 28, 2011.

Motion carried, roll call vote was 8-0.

# <u>Item 4.4.10</u> <u>Approval of Non-Renewal of Contract of Non-Tenured</u> <u>Certificated Personnel</u>

Motion by Mrs. Bernstein, second by Mr. SmithBey approving non-renewal of contract of the non-tenured certificated personnel, whose name has been filed with the Director of Human Resources, for the 2011-2012 school year.

Motion carried, roll call vote was 8-0.

# <u>Item 4.4.11</u> <u>Approval of Non-Renewal of Contract of Non-Tenured Non Certificated Personnel</u>

Motion by Mr. SmithBey, second by Mr. Tukes approving non-renewal of contract of the non-tenured non-certificated personnel, whose names have been filed with the Director of Human Resources, for the 2011-2012 school year.

Motion carried, roll call vote was 7-0-1, with Mr. Tukes abstaining.

# <u>Item 4.4.12</u> <u>Approval of Contract</u>

Motion by Mrs. Bernstein, second by Mr. SmithBey approving the employment contract of Mr. Nedd J. Johnson, Sr., Assistant Superintendent of Schools, for the 2010-2011 school year, effective May 16, 2011 through June 30, 2011, at the salary of \$140,000.00, prorated. Account #11-000-230-104-05-13. PC# 3980.

Motion carried, roll call vote was 8-0.

# <u>Item 4.4.13</u> <u>Approval of Termination of Non-Certificated Staff</u>

Motion by Mr. Tukes, second by Mrs. Bernstein approving termination of a non-certificated staff member, whose name has been filed with the Director of Human Resources, effective May 4, 2011, for abandonment of position.

Motion carried, roll call vote was 8-0.

# <u>Item 4.4.14</u> <u>Ratification of Suspension of Certificated Staff</u>

Motion by Mrs. Bernstein, second by Mr. Smith Bey ratifying suspension with pay of a certificated staff member, whose name has been filed with the Director of Human Resources, effective April 29, 2011.

Motion carried, roll call vote was 8-0.

#### Item 5.1.5

#### **Approval of 2010-2011 Tuition**

Motion by Mrs. Bernstein, second by Mrs. Peterson approving the tuitions listed for out of district placements. Yearly tuition amounts, tuition payments prorated.

	CA	AA- West Avenue			
Start Date	#	Tuition	Account#		
3/28/2011	25	\$38,090.00	11-000-100-566-00-01		
Pineland Learning					
Start Date	#	Tuition	Account#		
3/31/2011	33	\$40,213.80	11-000-100-566-00-01		
4/06/2011	34	\$40,213.80	11-000-100-566-00-01		
4/07/2011	35	\$40,213.80	11-000-100-566-00-01		
4/11/2011	36	\$40,213.80	11-000-100-566-00-01		

Motion carried, roll call vote was 7-0-1, with Mr. Tukes abstaining.

#### **Item 5.1.8 Approval of Membership in Health Insurance Fund**

Motion by Mr. Smtih Bey, second by Mrs. Peterson approving the membership in the Southern Coastal Regional Employee Benefits Fund (SCREBF) effective July 1, 2011. The fund has provided a letter to the district agreeing to provide equal to or better than coverage as compared to the benefits in place today. The quoted increases, effective July 1 would be 7.64% for a 12 month period or 9.73% for an 18 month period.

Motion carried, roll call vote was 7-1, with Mrs. Bernstein voting no.

• Executive Session I-6:45 pm Motion by Mr. SmithBey, second by Mr. Tukes approving the following executive session resolution:

WHEREAS, section 8 of the Open Public Meeting Act, Chapter 341 PL1975, permits the exclusion of the public from a meeting in certain circumstances; and WHEREAS, this public body is of the opinion that such circumstances presently exist.

NOW, THEREFORE, BE IT RESOLVED, by the Bridgeton Board of Education of the

City of Bridgeton, County of Cumberland, State of New Jersey, as follows:

- 1. The public shall be excluded from discussion of and action upon the hereinafter specified subject matters.
- 2. The general nature of the subject matters to be discussed is personal matters.
- 3. It is anticipated at this time that the above stated subject matters will be made public when appropriate.
- 4. This resolution will take effect immediately.

Motion carried, roll call vote was 8-0.

#### RETURN TO THE PUBLIC

Motion by Mr. SmithBey, second by Mrs. Peterson approving the return to the public portion of the meeting at 7:27 pm

Motion carried, roll call vote was 8-0.

#### Item 8.OTHER BOARD ACTION: INFORMATION

- 8.1 Motion by Mr. SmithBey, second by Mrs. Bernstein approving Second Reading/Approval of Revised Policy 5131.4 Pupil Attendance (Attached) Motion carried, roll call vote was 8-0.
- Motion by Mr. SmithBey, second by Mrs. Bernstein approving a Sick Bank that was requested and approved by Dr. Bear for <u>Johann Iannerelli</u>, Cafeteria Worker at Broad Street School. Sick Bank to be effective February 17, 2011 until released from doctor's care, after sick days exhaust.

Motion carried, roll call vote was 8-0.

• Executive Session II-7:33 pm

Ms. Edwards left the board meeting at 7:33pm.

Motion by Mr. SmithBey, second by Mr. Tukes approving the following executive session resolution:

WHEREAS, section 8 of the Open Public Meeting Act, Chapter 341 PL1975, permits the exclusion of the public from a meeting in certain circumstances; and WHEREAS, this public hody is of the opinion that such circumstances presently exist

WHEREAS, this public body is of the opinion that such circumstances presently exist. NOW, THEREFORE, BE IT RESOLVED, by the Bridgeton Board of Education of the City of Bridgeton, County of Cumberland, State of New Jersey, as follows:

- 5. The public shall be excluded from discussion of and action upon the hereinafter specified subject matters.
- 6. The general nature of the subject matters to be discussed is personal matters.
- 7. It is anticipated at this time that the above stated subject matters will be made public when appropriate.
- 8. This resolution will take effect immediately.

Motion carried, roll call vote was 7-0.

#### RETURN TO THE PUBLIC

Motion by Mrs. Dellaquilla, second by Mr. SmithBey approving the return to the public portion of the meeting at 8:45 pm

Motion carried, roll call vote was 7-0.

#### Item 10. ADJOURNMENT

Motion by Mrs. Dellaquilla, second by Mr. SmithBey approving to adjourn the meeting at 8:47 pm.

Respectfully Submitted,

Nicole M. Schoener School Business Administrator

# Executive Session Minutes I May 3, 2011

The public action meeting of the Bridgeton Board of Education was called to order at 6:30 p.m. by Nicole M. Schoener, Board Secretary. Board Members present were Mrs. Brenda Dellaquilla, Ms. Angelia Edwards, Mrs. Marie Bernstein, Mr. Albert Morgan, Mr. James Williamson, Mr. Willie Tukes, Mr. Kenny Smith-Bey Jr. and Mrs. Mary Peterson. Mr. Curtis Edwards was absent. Also in attendance were Dr. Thomasina Jones, Superintendent, Mrs. Nicole M. Schoener, School Business Administrator and Mr. A. Paul Kienzle, Jr., Board Solicitor. Prayer was offered by Ms. Edwards.

The Board heard matters of personnel regarding the suspension of a bus aide who has been reinstated. Mr. Terrell Everett explained the reasons for the recommendations for non renewal of contract of non-tenured certificated and non-certificated personnel.

#### **RETURN TO THE PUBLIC**

Motion by Mr. SmithBey, second by Mrs. Peterson approving the return to the public portion of the meeting at 7:27 pm

Metion corried well sell yets was 0.0

Motion carried, roll call vote was 9-0.

Respectfully submitted,

Nicole M. Schoener School Business Administrator

# Executive Session Minutes II May 3, 2011

The public action meeting of the Bridgeton Board of Education was called to order at 6:30 p.m. by Nicole M. Schoener, Board Secretary. Board Members present were Mrs. Brenda Dellaquilla, Ms. Angelia Edwards, Mrs. Marie Bernstein, Mr. Albert Morgan, Mr. James Williamson, Mr. Willie Tukes, Mr. Kenny Smith-Bey Jr. and Mrs. Mary Peterson. Mr. Curtis Edwards was absent. Also in attendance were Dr. Thomasina Jones, Superintendent, Mrs. Nicole M. Schoener, School Business Administrator and Mr. A. Paul Kienzle, Jr., Board Solicitor. Prayer was offered by Ms. Edwards.

The Board heard an expulsion hearing for L.G.. The expulsion hearing was recorded and is maintained in the office of the Business Administrator.

Motion by Mrs. Dellaquilla, second by Mr. SmithBey approving the expulsion of L.G. **Motion carried, roll call vote was 6-1, with Mr. Tukes voting no.** 

#### RETURN TO THE PUBLIC

Motion by Mr. SmithBey, second by Mrs. Peterson approving the return to the public portion of the meeting at 8:45 pm

Motion carried, roll call vote was 7-0.

Respectfully submitted,

Nicole M. Schoener School Business Administrator